BP-103

F _-iu_.jz-f_ ; ’:NG PRIMARY scl-lam.

Nusturing Competencics,, lnspiting Exeellence, Empoweting Individuals
Egiblishal stice 1930 Scholars of Tofiotrow

Level * Primary Three

Date - : 4 March 2024

TOTAL TIME
15 questions
30 matrks

FOR-PAPER: 45 minutes

»« DONOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO




Questions 1 10 4 gerty 1 meitk each. Question S carsies 2 marks, For each question, four options ar

giver, Ofié of them is the comect answer. ‘Make your c¢hoice (1, 2, 3 or 4)-and shade yaur answer

ot the Optical Answer Sheet.

{6 mavks)
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1.

1n 4856, the.digit 8 stands for .

What is the missing number in the box above?

@) 80
@y 800

s32—as=[__7 _
What is thie missing humber ifi fHe hox above?
fy 382
(&3 422
@ 787

4] 313

Which éne-of the following is equal to 10752
(1) $0.7s
@ 3175

) 51875

@) $107.50

s5p+ #=51

What is the missing number i thie bok above?
ay 45
2 54
@ 5
@ 155

Whiak §5 the sum of 4382 and 3002
1y 1382
{3) 4082
(3) 4682
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)

iQueshons 6o I¥ narry yark: t;gch, Sllowr your vmrkmg‘ cisaﬂ}l and !m;lte ysm* ahgwers in the
shaces provided, For queshons which tequire units, give your answers i the units stated.

{14 marks)

6  1891s 1001&5531& _

What is the Imssmg ol ‘_i':“b‘er it the box bove?

Ans:

7. Find the difference between: 2349 and 785,

Ans;

g _ and$5fi 16add Uip 16 $1on
Whit is the missing amount in the box abeve‘?

9. Amange the numbers 4280, 4240:and 4270 in increasing order,
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10, Sy the musber pattern bl Whats fhe missing number i fhe box below?

8823, 8723, 8713, |

7], 8603,8503, 8493, 8393

14,  'Phere are 1056 boys afacamiyal,
There ate 378 fewer boys than girls,
How many gitls arethere al the carfival?

\2.  MeTad as & sum of moneg. e wants Yo buy a chair and a able fiom a furpiture shop.

"The table costs $1875. The chair costs $267 Tess than the table.

Fach staterent below s eithertrue, fale or ot pssible fo tell from Hheinformation given:

For each statemint, put a tick (+/} in the correct volumi.

Statement.

True

T Mot possible |

oo dirency between e Gost of a chair|

e

! Tﬁe mmimsrnfauhauand atable::s $2142,

Thie s of ropney Mt Tan Tua 4% $5000.
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L)

Bor qﬂestmns 13 15'15; show your woz
The niftiber of mgrks amiabie ig shavm in brackets[ ]at'the end offeach guestion of pait-qiestion.

R (10 ritaiks)
13,  Mieslee boughta cake anﬂa 1oaf of hread ﬁom a bakery
The caks cost $20.50. The loaf of bread cost $6,80.
{2) How muchmore did the eake cost than the foaf’ of'bread?
L (a) , 12]

(b) Howmuch did Mrs Lee spend altogether af the bakery?

A 0 . [1]
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‘qleatiy and vmte your answers iri the-spagés. pfemded,




14.
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R %

Read ﬁlefpmbiem Look at the numbers 1o the boxes.

Put the nurhbets ixt the blanks where youthink they fif best.

‘Eavh number cinbe used only once.

Read the problem agein. Do:the numbers malke:sense? [3 marks]

e
Th siiiber of local stampsis____ " more than the number of oreign stamps.

®

He has , 7. _ ol stamps and ___foreignstamps.
() @

. [175] , |34




Mg Ong ardéred%’fg ﬁ"ﬂS of pineagrple tarts forsale at a earmvai

St 611380 tins.of pineapple tarts on Saturday:
(2} How many fins of pineapple tarts did Mrs Ong; have feft?

Ans @) . 2]

By On Sunday, Mrs Gng snld 120 fewer tms of pmeapple tatts than on Saturday.

Ang ()

End-of-Paper
T
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SCHOOL : RULANG SCHOOL
LEVEL :  PRIMARY 3
SUBJECT :  MATH

TERM  : 2024 WA1

Q1)
Q2)
Q3)
Q4)
Qs5)
Q6) | 289

G = W | W

Q7) | 1857

Qs) | $8.70

Q8) | 4240, 4270 AND 4280

Q10) | 8613

Q11)| 1056 + 378 = 1434

&

Q13) a} $20.50 — $6.80 = $13.70

The cake cost $13.70 more than the loaf of bread.
b) $20.50 + $6.80 = $27.30 '

She spent $27.30 at the bakery

Q14) | a)384
b)34
cH75 .

d) 175

Pgl




Q15)

2)3676 - 1380 = 1208

She has 1298 tarts left.
b)1380 — 120 = 1260

She sold 1260 tins of tarts on Sunday.
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